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o e
‘Steve walks to his school and come back

home by riding bicycle it takes 90 minutes.

1f he goes to school and comes back from

school on bicycle it takes 30 minutes. Find

the time taken by him for coming and

going 10 school by walking? (Assume that

speed is constant in all the cases)

{A) 4 hours (8) 2.5 hours

(C) 2 hours. (D) 3hours

(€) None of these
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(€} None of these

(8) 115*
(0) 125"

30.1f ABC is a right triangle right — angled at
€. P and Q are mid points of AC and BC
respectively, if AC= dcm and BC=3cm then
AQis

(A) Sem

7

) =

N
(€) 5= em

(E) None of these

31.In equilateral triangle ABC, D is a point on

BCsuch that BD : DC= and AB = 3 tm
then AD is
{A) 9em 8) 7em
- 7
(€1 7 em 01 Gem

(E) None of these

32.1f TAIL is coded as VCKN, how is PEACE
coded.
(A) RGCEG.
(€) RDZED.
(E) None of these

(8) QFBOF
(D) QECEG

33.1f A = 26, SUN = 27 then CAT is
(a) 24 (8) 57
() s& (0) 27
(E) None of these

35.1f 2 = 23 (509) (1024), b = 21 (a41) (14

then C= 19 (361) (7)
(A) 1441 (8) 3529
(€) 9361 (0) 8281

(E) None of these

36. A shopkeeper marks his goods at suct
price that after allowing a discount of 1,
% he makes a profit of 10%. The mark
price of article which costs Rs. 245 is
(8) Rs.308 (8) Re.524
(€) Rs.323 (D) Rs. 421
(E) None of these

Listprice of a pair of shoes is Rs. 450. 1f|
45 was paid as a VAT. The rate of VAT it
(A) 5% () 10%

(€) 15% D) 20%
(E) None of these

37.

The time taken by P to cover 150 km w

23 b, more than time taken to return

the speed on return journcy is 10 km/
‘mire than going journey. Find the spe
of going journey.

() 20 km/ h

(8) 30 kan/ h

(€) 30 km/ h

(0) 50 km/ h

(€] None of these

39. The fastest speed of Ishant Sharm:
bowling is 14akm/h. How much time
seconds the ball will take to travel t

istance of 20 metres that is up to t

batsman.

(4) 0.5 seconds

(8) 0.4 seconds

(€) 0.25 seconds

(D) 0.95 seconds

(€] None of these

34.1f MATHEMATICS = 12345123678, then
MAHATHMA =
(A} 12423412
(8) 12245123
(C) 12345678
D) 12425341
(€] None of these

2. 1fx = acos0 and y = b sin then b + @
=7
(A ab
(8) 32407
(€ a%
(0) a%b?

(€) None of these.
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